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I am going. You are going. He is going.
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I am going. You are going. He is going.

Change in verb w.r.t agent

@ In these you can see how change is happening with &l (agent) change.
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[ am going. You are going. He is going.

Change in verb w.r.t agent

o In these you can see how change is happening with & (agent) change.
o Similarly in ¥ also verb changes when you change &dT (agent).
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@ We know that number of agent and verb remains in sync.
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[ am going. You are going. He is going.

Change in verb w.r.t agent

o In these you can see how change is happening with & (agent) change.
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@ We know that number of agent and verb remains in sync.

@ Now we have to choose verb based on agent in action.
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[ am going. You are going. He is going.

Change in verb w.r.t agent

o In these you can see how change is happening with & (agent) change.
o Similarly in ¥ also verb changes when you change &dT (agent).
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@ We know that number of agent and verb remains in sync.

@ Now we have to choose verb based on agent in action.

@ Lets see some sentences then to understand.
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Sentences in all person
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Sentences in all person
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Sentences in all person
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Gender consideration in Second and First person
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Gender consideration in Second and First person
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Gender consideration in Second and First person
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Gender consideration in Second and First person
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@ Pronoun for first and second person here doesn't have gender as in English too.

@ Verb forms are different for all the persons.




Gender consideration in Second and First person

@ Pronoun for first and second person here doesn't have gender as in English too.
@ Verb forms are different for all the persons.

@ In uses majority of sentences are third person only.




@ When 3ZdR: followed by ¥aX then we write H | T&H 3NTeBld, BH 3B(d |




e When 3ZdR: followed by ¥aX then we write H{ | T€H 3NTeBld, BH 3B(d |
o When 3¥dR: followed by I3 then we write < | & Te8id, ey Udid |
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@ Do all exercises in book for grammar part and on saakalyam.org for chapter two.
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